
!.

#.

$.

%.

&.

'.

(.

).

*.

!+.

!!.
!#.

PHY152 Online MCQs Test( 100L CMDA ACADEMIC UNIT)
Dur/tion:1hr 10mins

A c/p/citor is fully ch/rged if the p.d is A. Equ/l to the e.m.f B. Less 
th/n e.m.f C. Gre/ter th/n e.m.f D. None of the /bove 
Which of the following is correct /bout the insul/tor in / c/p/citor? A. 
It /llows electric field between the conductors B. It /llows ch/rge to 
flow from one conductor to the other. C. It is / conductor D. All of the 
/bove 
Which is /n expression of conserv/tion of ch/rge? A. Kirchhoff first 
l/w B. Kirchhoff second l/w C. Kirchhoff 3rd l/w D. Kirchhoff fourth 
l/w
Electric field intensity is A. Independent of test ch/rge B. Dependent 
on th/t test ch/rge C. / vector qu/ntity D. All of the /bove
The unit of conductivity is A. Ohm B. Ohm meter C. Ohm per meter D. 
Per ohm per meter
Resist/nce depends on A. Temper/ture B. Length of the wire C. Are/ 
of the wire D. N/ture of the m/teri/l E. All of the /bove
M/gnetic induction occurs when there is rel/tive motion between A. A 
conductor /nd /n electric field B. A conductor /nd / m/gnetic field C. 
Two m/gnetic fields D. Two conductors 
The p/rt of / gener/tor in which the volt/ge is induced is c/lled A. The 
field B. Arm/ture C. C/rbon brushes D. None of the /bove
The type of energy stored in / c/p/citor is A. Potenti/l energy B. 
Kinetic energy C. Electric potenti/l energy D. El/stic potenti/l energy 
Which of the following is not true? A. M/gnetic forces /ct on only 
moving ch/rges B. M/gnetic field lines exit North Pole /nd enter South 
Pole C. A ch/rged p/rticle /t rest experience / m/gnetic force D. 
M/gnetic force is /lw/ys perpendicul/r to both  B /nd V
The unit of m/gnetic flux is A. Tesl/ B. Weber C. Tesl/.m2 D. b /nd c
When / m/gnet is in motion rel/tive to / coil, the induced emf does 
not depend on A. Resist/nce of the coil B. Motion of the m/gnet C. 
Number of turns of the coil D. Pole strength of the m/gnet
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P/r/m/gnetic m/teri/ls h/ve rel/tive perme/bility A. Slightly less th/n 
unity B. Equ/l to unity C. Slightly more th/n unity D. Equ/l to th/t of 
ferrom/gnetic m/teri/ls
The rel/tive perme/bility is less th/n unity in c/se of A. P/r/m/gnetic 
m/teri/ls B. Di/m/gnetic m/teri/ls C. Ferrom/gnetic m/teri/ls D. 
None of the /bove 
An n-type semiconductor is A. Positively ch/rged B. Neg/tively 
ch/rged C. Electric/lly neutr/l D. None of the /bove 
For pure met/ls,resist/nce A. Incre/ses line/rly with temper/ture B. 
Decre/ses with temper/ture C. Incre/se non-line/rly with temper/ture 
D. Does not depend on temper/ture 
To incre/se the sensitivity of / g/lv/nometer. Which of the following is 
not true? A. Incre/se the m/gnetic field B. Incre/se the number of 
turns of the coil C. Decre/se the /re/ of the coil D. Use we/k springs
In /n RLC Series circuit,power is dissip/ted in A. Resistor only B. 
Resistor /nd c/p/citor C. Resistor /nd inductor D. Resistor, c/p/citor 
/nd inductor 
Which of the following is//re correct? At reson/nce in /n RLC circuit: 
(i) current is m/ximum (ii) c/p/cit/nce equ/ls induct/nce (iii) current 
is minimum (iv) c/p/cit/nce is gre/ter th/n induct/nce. A. (i) only B.(i) 
/nd (ii) C.(i) /nd (iv) D. (ii) /nd (iii)
Which of the following devices oper/tion is b/sed on / null indic/tion 
principle? A. Bridges B. Resistor C. Ammeter D. All of the /bove 
In / pure  c/p/citor,current: A. L/gs behind the volt/ge in ph/se by 90 
B. Le/ds the volt/ge in ph/se by 90 C. Is in the s/me with the volt/ge 
D. Le/ds the volt/ge by 180
In / purely inductive circuit ,the current A. L/gs the volt/ge in ph/se 
by 90 B. Le/ds the volt/ge in ph/se by 90 C. Is in the s/me ph/se 
with the volt/ge D. Le/ds the volt/ge by 180
Which of the following is not true /bout p/r/m/gnetic m/teri/ls? A. 
Possess / perm/nent m/gnetic moment B. They /cquire / we/k 
m/gnetiz/tion in the opposite direction /s the /pplied field C. The 
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susceptibility v/ries inversely /s the /bsolute temper/ture D. They 
h/ve / m/gnetic moment even in the /bsence of /n extern/l m/gnetic 
field
Which of the following is not / di/m/gnetic m/teri/l? A. Bismuth B. 
Antimony C. W/ter D. Pl/tinum 
The curie temper/ture for nickel /nd steel /re? A. 360oC /nd 770oC 
B. 770oC /nd 360oC C. 1000oC /nd 360oC D. 1000oC /nd 770oC
Which of these is not / ferrom/gnetic m/teri/l? A. Steel B. Nickel C. 
Nickel s/lt solution D. Cob/lt
Which of these is / p/r/m/gnetic m/teri/l? A. Iron B. Bismuth C. 
Crown gl/ss D. Antimony
The susceptibility of / di/m/gnetic m/teri/l A. V/ries directly with 
temper/ture B. V/ries inversely with temper/ture C. Does not v/ry 
with temper/ture D. None of the /bove
The induced emf is directly proportion/l to the r/te of ch/nge 
m/gnetic flux linking the coil. This st/tes: A. F/r/d/y s̓ l/w B. Lenz l/w 
C. Curie s̓ l/w D. Ampere s̓ l/w
Which of these is /n expression of l/w of conserv/tion of energy? A. 
F/r/d/y s̓ l/w B. Lenz l/w C. Curie s̓ l/w D. Biot- s/v/rt s̓ l/w
Which of the following obeys inverse squ/re l/w? A. F/r/d/y s̓ l/w B. 
Lenz l/w C. Curie s̓ l/w D. Biot- s/v/rt s̓ l/w
The following /re the units of m/gnetic field strength (B) EXCEPT: A. 
Tesl/ B. Wb/m2 C. Nm/A D. Wb.m2
In / pure c/p/citor,the volt/ge: A. L/gs behind the current in ph/se by 
90 B. Le/ds the current in ph/se by 90 C. Is in the s/me ph/se with 
the volt/ge D. Le/ds the current by 180
In / purely inductive circuit,the volt/ge: A. L/gs behind the current by 
90 B. Le/ds the current in ph/se by 90 C. Is in the s/me ph/se with 
volt/ge D. Le/ds the current by 180
A dyn/mo prim/rily converts A. Mech/nic/l energy into electric/l 
energy B. Electric/l energy into mech/nic/l energy C. Potenti/l energy 
into kinetic energy D. Kinetic energy into potenti/l energy
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A device th/t converts electric/l energy into mech/nic/l energy is 
c/lled A. Dyn/mo B. Motor C. Tr/nsformer D. Gener/tor
Which of the following is not / component of /n A.C gener/tor? A. 
Field m/gnet B. Slip rings C. Split rings D. Arm/ture
To incre/se the c/p/cit/nce of / c/p/citor: A. Incre/se the dist/nce 
of sep/r/tion B. Decre/se the dist/nce of sep/r/tion C. Decre/se the 
/re/ D. Incre/se the temper/ture 
The followings /re correct EXCEPT : A. Resistors connected in series 
h/ve the s/me current flowing through them B. C/p/citors connected 
in series h/ve the s/me ch/rge C. Resistors connected in p/r/llel h/ve 
the s/me volt/ge D. C/p/citors connected in p/r/llel h/ve the s/me 
ch/rge
The susceptibility of / p/r/m/gnetic m/teri/l: A. Decre/se with 
temper/ture B. Incre/se with temper/ture C. Does not v/ry with 
temper/ture D. None of the /bove
The oper/tion of / moving coil g/lv/nometer is b/sed on : A. 
Electrom/gnetic induction B. M/gnetic effect of electric current C. 
Force on / current c/rrying conductor in / m/gnetic field D. 
Electrochemic/l effect
The followings /re correct /bout bridges EXCEPT : A. Used for 
/ccur/te me/surement of resist/nce B. When the bridge is 
unb/l/nced, current flows through the g/lv/nometer C. The bridge is 
b/l/nced when the current flows through the g/lv/nometer D. When 
there is no current through the meter, the g/lv/nometer pointer is zero
Which of the following is / vector qu/ntity? A. Rel/tive perme/bility B. 
M/gnetic field intensity C. Flux density D. M/gnetic potenti/l
The r/tio of intensity of m/gnetiz/tion to the m/gnetiz/tion force is 
known /s A. Flux density B. Susceptibility C. Rel/tive perme/bility D. 
None of the /bove
M/teri/ls subjected to r/pid revers/l of m/gnetism should h/ve A. 
L/rge /re/ of B-H loop B. High perme/bility /nd low hysteresis loss C. 
Low perme/bility /nd high hysteresis loss D. All of the /bove
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Which of the following is not / unit of flux ? A. M/xwell B. Tesl/ C. 
Weber D. All of the /bove
Susceptibility is positive for: A. Ferrom/gnetic subst/nces B. Non- 
m/gnetic subst/nces C. Di/m/gnetic subst/nces D. None of the 
/bove
Two long p/r/llel conductors c/rry 100A. If the conductors /re 
sep/r/ted by 20mm,the force per meter of length of e/ch conductor is 
A. 100N/m B. 10N/m C. 1N/m D. 0.1N/m
Two wires will /ttr/ct e/ch other if A. Altern/ting current p/sses 
through them B. The current is in different direction C. They h/ve the 
s/me resistivity D. The current is in the s/me direction 
Two wires will repel e/ch other if A. Altern/ting current p/sses through 
them B. The current is in different direction C. They h/ve the s/me 
resistivity D. The current is in s/me direction
M/gnetic field /t / point ne/r / current c/rrying wire is A. Inversely 
proportion/l to the current B. Independent of the current C. Directly 
proportion/l to the current D. None of the /bove
The force on / ch/rge tr/veling in / m/gnetic field is m/ximum when 
the ch/rge is A. Moving p/r/llel to the field B. Moving perpendicul/r to 
the field C. Moving /t 60o to the field D. St/tion/ry in the field 
At wh/t frequency will / 12.0mH inductor h/ve / re/ct/nce of 
880ohms? A. 1.17 X 10^2 Hz B. 1.71 X 10^4 Hz C. 1.17 X 10^4 Hz D. 60 
HZ
A c/p/citor of c/p/cit/nce 3.0microf/r/d is subjected to 2000V p.d. 
C/lcul/te the energy stored in the c/p/citor. A. 5.6J B. 20J C. 6J D. 5J
Which of the following is not correct? A. The conductivity of / 
semiconductor incre/ses with temper/ture B. The resist/nce of / 
semiconductor decre/se with rise in temper/ture C. The n-type 
semiconductor h/s more electrons th/n holes D. The resist/nce of / 
semiconductor incre/se with rise in temper/ture 
Which of the following is /n /pplic/tion of electrom/gnetic field? A. D. 
C motor B. A.C motor C. Moving coil g/lv/nometer D. All of the /bove
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M/gnetic effects /re produced in circuits by A. Diodes B. Coils C. 
Thermistor D. C/p/citors 
For / m/gici/n to levit/te /n object A. He c/st his spell c/refully B. 
The electric field must be gre/ter th/n the gr/vit/tion/l field C. The 
electric field must be equ/l to the gr/vit/tion/l field in m/gnitude D. 
The velocity of the object must be incre/sed in /n / upw/rd direction 
Induced current depends on the (I) number of turns in the coil (II) 
strength of the m/gnet (III) speed with which the m/gnet is plunged 
into the coil. Which of these is//re f/lse? A. I only B. II only C. II /nd III 
only D. III only E. None of the /bove
The net force o / current loop in / uniform m/gnetic field is A. Not 
const/nt B. One C. Infinity D. Zero
Which if the following is//re semiconductors? A. Copper B. Silicon C. 
Germ/nium D. b /nd c E. Pl/stic 
In / pure semiconductor: A. The number of free electrons is equ/l to 
the number of holes B. The number of free electrons is less th/n the 
number of holes C. The number of free electrons is gre/ter th/n the 
number of holes D. The number of free electrons is twice the number 
of holes
P- type semiconductor is obt/ined when A. The m/jority ch/rge 
c/rriers /re the holes B. The m/jority ch/rge c/rries /re the free 
electrons C. Doped with /rsenic D. None of the /bove
The number of electrons in the outermost shell of / semiconductor is 
A. 3 B. 4 C. 5 D. 6
The temper/ture /t which / ferrom/gnetic becomes p/r/m/gnetic is 
known /s : A. P/r/m/gnetic temper/ture B. Curie temper/ture C. 
Curiel temper/ture D. Ferrom/gnetic temper/ture 
An ex/mple of triv/lent element used for doping semiconductor is A. 
Phosphorus B. Silicon C. Germ/nium D. Boron
A wire h/s / resist/nce of 21 ohms . It is melted down /nd from the 
met/l / new wire is m/de th/t is three times /s long /s the origin/l 
wire. Wh/t is the resist/nce of the new wire? A. 21 ohms B. 63 ohms 
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C. 189 ohms D. None of the /bove 
Which of these is not /n AC bridge? A. Wein bridge B. Whe/tstone 
bridge C. M/xwell bridge D. Schering bridge
C/lcul/te the drift velocity of the free electrons in / copper wire of 
cross section/l /re/ of 1.0mm2 when the current flowing through the 
wire is 2.0A (number of free electrons in copper is 1 X 10^29m-1) A. 
1.25 x 10^-4 m/s B. 1.25 x 10^-3 m/s C. 1.25 x 10^4 m/s D. 1.25 x 10^3 
m/s
2 /nd 3 microf/r/d c/p/citors /re both connected in p/r/llel /cross / 
100V supply line. C/lcul/te the ch/rge on the pl/te of the c/p/citor A. 
1.5 x 10^-6C B. 1.0 x 10^-6C C. 5.0 x 10^-4 C D. 0.7 x 10^-4 C
Wh/t is the m/gnetic flux density B /t 2m from / str/ight line in 
v/cuum c/rrying 3A current? A. 5 x 10^-7 T B. 3 x 10^-7 T C. 6 x 10^-7 
T D. 2 x 10^-7T
The loss of retr/ce/bility is known /s A. M/gnetiz/tion B. Hysteresis 
C. Rem/nence D. Coercive force
A m/teri/l with the m/gnetic induction B less th/n the m/gnetizing 
field H is A. P/r/m/gnetic B. Electronic C. Di/m/gnetic D. 
Ferrom/gnetic 
The component of the DC gener/tor th/t m/int/ins the direction of the 
gener/ted emf in the circuit is the A. Commut/tor B. Slip ring C. 
Arm/ture D. Rect/ngul/r coil 
The neg/tive sign in f/r/d/y s̓ l/w of electrom/gnetic induction 
indic/tes: A. Induced emf B. Direction of induced current C. Current D. 
F/r/d/y s̓ direction
I G/uss(G) is equiv/lent to A. 10^-1 T B. 10-2T C. 10^-3 T D. 10^-T
The m/gnetic flux in / coil h/ving 200turns ch/nges /t the time r/te 
of 0.08wb/s. The induced emf in the coil is A. 250V B. 25V C. 16V D. 
1.6V
Which of the following obeys ohm s̓ l/w ? A. Gl/ss B. Diode C. All 
electrolytes D. All met/ls
The curie temper/ture for iron is A. 1000oC B. 770oC C. 360oC D. 
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Cob/lt is / p/r/m/gnetic m/teri/l. True or f/lse?

   .... c/ring for the whole m/n. We /re CMDA
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Phy152 MCQs Test /nswers (100L CMDA ACADEMIC UNIT)
A
A
A
A
D
E
B
B
C
C
D
A
C
B
C
A
C
A
B
A
B
A
B
D
A
C
C
C
A
B
D
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D
A
B
A
B
C
B
D
A
C
C
B
B
B
B
A
D
D
B
C
B
C
C
D
D
B
C
E
D
D
A
A
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B
B
D
C
B
A
C
B
B
C
A
B
D
C
D
A
F2lse
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